
AN C
V 2

ωÈC
2

mÈX
+

&
v

t
π

a:b
ψ

X Z

ξ
=

v − b
ψ

ξ

a + vΦb− bΦb/2e
ξ

t
π

a:b
t
π

′a:
′
b

= t
π

a + ′a +
′
bΦb− bΦ

′
b

Y [
/2:b +

′
b

v

LHS ψ
X Z

ξ
= t

π

a:b

v

t
π

′a:
′
b
ψ

X Z

ξ

= a + vΦb− bΦb/2e
ξ

v − b(
t
π

′a:
′
b
ψ

)
ξ

= a + vΦb− bΦb/2e
ξ

′a + (v − b)Φ
′
b−

′
bΦ

′
b/2e

ξ

v − b−
′
b
ψ

ξ

= a + ′a +
′
bΦb− bΦ

′
b

Y [
/2 + vΦ b +

′
b

Y [
− b +

′
b

Y [
Φ b +

′
b

Y [
/2e

ξ

v − b−
′
b
ψ

ξ
=

v

RHS ψ
X Z

ξ

t
π

a:b
ψ

D F

= ψ
DF

2
LHS =

V∫
dv

vΦve−1
ξ

2
v

t
π

a:b
ψ

X Z

ξ

D F
dξ∫

X
+
&

=

V∫
dv

vΦve−1
ξ

2
a + vΦb− bΦb/2e

ξ

D F
2

v − b
ψ

ξ

D F
dξ∫

X
+
&

=

V∫
dv

vΦve−1
ξ

vΦb + bΦve
ξ
−bΦb
X Z

e

2
v − b

ψ
ξ

D F
dξ∫

X
+
&

=

V∫
dv

(v − b)Φ (v − b)e−1
ξ

2
v − b

ψ
ξ

D F
dξ∫

X
+
&

=

V∫
d ′v

′vΦ ′ve−1
ξ

2
′v
ψ

ξ

DF
dξ∫

X
+
&

=
2

RHS

&|X& C
V 2

ωÈC
2

mÈX
+

&

v

cπψ
X Z

ξ
=

c1ed
−dV /2r c−1

1/2
v
ψ

ct
1ξ

(c ′c)
π

= cπ ′cπ



cπψ
H J

= ψ
HJ

2
LHS =

V∫
dv

vΦve−1
ξ

2
v
(cπψ)

ξ

D F

dξ∫
X

+
&

=

V∫
dv

vΦve−1
ξ

c1ed
−dV /r

2
= w

c−1
1/2

v
ψ

= η
ct
1ξ

D F dξ∫
X

+
&

=

V∫
dw

−
((

c
1/2

w
)

Φ
(
c

1/2
w

))
tc−1
1 η

X Z

e
c1ed

−dV /r c1ed
d

1/2
/r

2
w
ψ

η

D F
c1ed

−d1/r

dη∫
X

+
&

\ �
V

ξ
2

ωÈC

∂` X
+
&∫

dξ

∂
`
X

+

& � ξ y \
ξ
�
V

ξ
2

ωÈC

2

\
HJ

= νd`

V
ξ∫

dv/πd`

Φ(v:v)e−ν
ξ

v\
ξ l

d
d`/`

ξ

∂` X
+
&∫

dµ
`
(ξ)

v

c C \
X Z

ξ
=

vc\
c]ξ

ec
d

`a/4

2

ψ
HJ

: = νd`

∂` X
+
&∫

dµ
`
(ξ)

d (ξ)
d`/r

V ξ∫
dv/πd`

Φ (v:v)e−ν
ξ
ψ (ξ:v)

cπψ (ξ:v) : = d (ce)
`a/4

ψ
(
c]ξ:c−1v

)
t
π

a:b
ψ (ξ:v) : = ψ

(
ξ:v + P

ξ
b
)

Φ(v:b)− a− Φ b:b
Y[

/2e−1
ξ

t
π

a:b
t
π

α:β
ψ

Y [

(ξ:v) = t
π

α:β
ψ

(
ξ:v + P

ξ
b
)

Φ (v:b)− a− Φ b:b
Y[

/2e−1
ξ

= ψ
(
ξ:v + P

ξ
b+ P

ξ
β
)

Φ
(
v + P ξb:β

)
− α− Φ(β:β) /2e−1

ξ
Φ(v:b)− a− Φ b:b

Y[
/2e−1

ξ

t
a:b
t
α:β

Y [

π
ψ (ξ:v) = t

π

a + α +
(
Φ(β:b)− Φ b:β

Y[

)
/2:b + β

ψ (ξ · v)

= ψ
(
ξ:v + P

ξ
b+ β
Y [

)
Φ(v:b + β)− a− α−

(
Φ(β:b)− Φ b:β

Y[

)
/2 + Φ b + β:b + β

Y [
/2e−1

ξ


